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B.1. How many oranges
Szl altogether
7 How many sweets
ore there altogether?
How much docs it cost altogether
for the three books?
The shopkecper sold 32 plums from the box.
How many plums were let?
Ann has 42c. How much more does she need
0 buy the cor?
6. Paul had 26 cards, Susan hod 38 cords and Pat had 35 cords.
How many cords was that altogether?
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B 1. Ann bod 35 motle, Poul hod 20 matles o
Susan had 23 marbles. Yo
How many marbles had they altogether?

2 [E] [E)  Homny pooes ce thre clropecher
': 12 in the three books?
. How mony children are there
o altogether in the three classes?

4. Afarmer had 78 sheep. He sold 43 of them. :

How mang sheep had h lf? R
5. MU, “EES How many more plums are there in

basket A than in basket B?

6. By how much is 43 greater than 417

(@)
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B. 1.How much have | left?
Thod T2c [ toc [ 35 | 50c ] bbc] 7ac] o9 | d5c
Tspent | 7c [12¢ [ 15¢ | 20c | 24c] 34c] 23¢ | 65c
Thave Teft.

2. Pat had 38 nuts, John had 17 nuts and Joan had 24 nus.
How many nuts had they altogether?

3. Jane had 24c. She got 17 from her Daddy and
46 rom her Mommy. How much had she then?

8. g s o2 How mony motches are there ltogether
PGP 0 e thiee boest !
5. Ann had 77 and Liam hod 43¢
How much more money hod Ann than Liam?
6. Peter had 55¢ and Liz had 84
How much less than Liz hod Peter? ___
7. The shopkeeper sold 23 oranges from the box on
Sosurday morning. How mang oranges were (et in the bt

(@)





image4.png
Test Yourself 11

A28 34 56 34 43 29
91z 18 30 26 19 31
+20 446 +9 34 +27 424
2.35¢ 40c 26 50c 35 8
17¢ T4 26c 1ac 17 6
+26c  +10  426c  +28  +6c  + 3
3. 79 88 a7 78 aq 80
“20 -33  -24 15 -84 -30

B. 1. How much did | spend?
Thad 12¢ [15¢ [ 20c | 3c ] s0c] ek ] sioc | doc

Tspent
Thave left_| 5c | c | 15c | 25c | Toc] 15| 30| Z6c

2. 52 B How many morble e there ltogeter?

3. Tom spent 26c on Monday, 28¢ on Tuesday and 45¢
‘on Wednesday. How much did he spend altogether?

0 N i s 2. How mach more
(D) docs e nec o by he itz
5. There are 89 children in a school. 36 of them are boys.
Fow mony o et
. There were 78 peoke o the bs. 23 fthem ot of
O th bus o Tow o wer il o he bs?

Afarmer had 54 sheep. He sold 35 of them. K0y
How many sheep had he then

(@]
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How much does it cost?
O\ o 662 Fos

3. What time does each clock show?

Th @

past past past





